2019t ER/tH KB RKENE-REE 2019/1/2114:20
1 2 RHSZFE F—mERERS

24,26,29,29,28

| 1 |[~x\cc¢wmm<cw;‘| T | 7 | 28,28,30.28
—) 13 s | ET% | 6
|8 | mouan | wasm | 3 | 2626282830 ZR B o -V S |
27,26,22,23,26 1 1] N7 BEA A A 8 4.5
s | H TR 6 3
25,28, 24,25 (#) 13 2 BN RSN LINEESN 7 3.5
I's [swmmoe| gmom | 2 3 SRR EZ 40 6 5
<) 14| [wemowee] e ]2 4 e = e YRR 5 15
L4 |wwimns| s |6 272927127 5 mmElGh  4EE 4 3
28,27,27,21 13 S Q. 6 Bl ik e e ke 3 25
27,27, 29,28 7 EibAiA=PN- PINGA= 2 3.5
I3 | wmorm | wsm |6 29,30,26,26.26 8 At SR 1 0.5
EEEAEEEEEEE
|6 [mvsernn] wawm | 2
o A | R | 4
25,29,26,26 73) 14
I 7 |TAE\§W7}<“£‘GNV| )i | 2 I 27,28,28,28,26
@ 16 |memeen] w7
I 2 |@!\‘f‘%§ﬁﬁ%| AR | 6 I 27,30,28,28,28
26,28,27,27
26,27,26,28
@Em | wnzmee | gee | 2
TNz
(m gk | wsk | 6
26,27,30,29
24,24,28
om_ | e | s | o | 29.26.28,29.29
) 15 |mnweess| g | 7
O || g | e |
27,25,29
15 v | apms |
26,24,28,28,25
Er | memeen] wew | 3]
0y 16 |mmiasar]| mEwE | 3
()8 |wwm‘r‘ﬁ‘m“;w| i A | 7 I 29,28,25,27,29
27,27,25,28,26
27,26,27,26
(B et | wan | 2
16 |mumeks| wken
oom | msmean | e | 6
26,28,29,27

AR el - G



2019/1/2103:40 PM

BR 20194t S iR A EE 201 94t FLUK B2 i Bh ey B i T H
g% 1/2 CERBEINE £l K
BRI M= BT [mms|arri| 1] 2| 3)%|F 4|5| 6% (7| 7|8]9[#:|F|10|11]12|% | 13| 14| 15[ | 16| 17|85
13A| BTE |mu=ugars| 7 | 1 [9(8]7[0[0]9]9[8[1]0][10[10[9]2]1[10[10]9]2[10[9]9]2
13B| R&a%= | 1E&E5 3 0 19(9|9(2|0|10[9]|7]|1(0]|9|7|6|/0({0|8]|8[7]/0[9(9]|8]|0
14A | &5 8%8 |momswss| 2 [0.5(9(8(8[0][0([10/9[9]20s|/9[8]|7[0]0[9]|8[8]0
14B| =23 |#mhm=rs>| 6 [0.5(10[9]/9|2]0s[10/9[8]0[0]9[9]|9[2]0[9]|9|9]2
15A XM | PIRAE | 6 [ 1 [10/9]8]0[0[10/9[8[2[0[10[10]9]2[1][10[9]9]2
15B| MEF |ExsesAz| 2 [ 1.5(10{10/9[2[1]10/9|6[0]0]10[10[8]0]0s[10[9]8]0
16A| IEEE |sEsmxzss| 2 | 1 [10/9]6[0[0][10[10[9][2]1]10[8[8]0|0[10[8]8]0
16B | MEZR |=HExsesx2| 6 [ 0.5(10/8[8[2[0[10/9[9[0]cs/10[9[8]2]0[10[9]8]2

T




2019/1/2103:40 PM

0 BR 20195 tH S i SR A B B 201 O tH FUK B2 A By S & 7 H

%—t| FINAL RFEFERE B —imfdl K

BRI M= B e | arf | 1] 2] 3[#|FI| 4] 5] 6|#|F|7|8|9|%: 7|10 11] 12]# | 13] 14| 15 % | 16 | 17 |%E
13A| BETZE |mu=smars| 6 | 2.5 [10/9]9(2(os]10[10[ 8] 0]os|10[10[10] 2]15[10[ 9] 9] 2

13B| E2¥ |#mitw=rs+s| 2 1 [9/9](9/0[0][10[10/9[2]|1{10/9](8|0[0]10{9]|8]0

14A| =W | RIERARE | 3 [ 2.5 [10[10][ 9] 2] 1]10]10[10] 1]15] 9] 9] 8] 0] 0] 9[9[ 8]0]9]9][8]0
14B | MER |@Euggsxrs| 7 2 |9(9[9]{0]0[10[10{10]1[15[10]{9]9]20s{10]9]|9[2][10]9]|9]2
15A| k&%= | 1CERS 0 0.5 (9(8|7(0/0|9(8]|7]|0[0|10]9([9]|0]os

15B| & B |mumsLss| 6 1 [9]/9]/9|2(0[9]8]|8|2[0[10[10]9]|2]1

16A| MEE |Eugexe| 3 0.5 [10/8]|8[0|0[|9(8]|7|0[0]|10]9(9]|2(05/10]/9[9]|1]9(8]|8]|0
16B | ItE=ZE |#Emx2s 7 0 |10/9(8]2(0]9]9(9]2|0(9|8(8[0|0f10/10/8(119|9|8]|2




2019/1/2103:40 PM

0 BR 20195 tH S i SR A B B 201 O tH FUR 22 A By S & 7 H
%—t|ALL FINAL CRBEIE £l e

M| HS I fams | arF | 1] 2|3 |% 7| 4| 5| 6% |F| 7|8 9% |F|10]11| 12|25 | 13[ 14| 15| | 16| 17 |
13A| BFTZE |amusugwxz| 6 1 [10[9]9]2os|10[10/6[0[ 010/ 9] 9] 1]0s|10[ 9] 9] 1]10[10]10] 2
13B| MEER |[Eugscz| 4 1 [9]{9]9/0[010/10]8[2]0s[10/ 9[9[ 1]0s/10[9][9]1]|9[9[8]0
14A| ESBIE |(whr-rRss| 2 0 [9(9|8|1({0]|10/9(8|1[{0(9|9(8|/0]|0[10/9]|9(0

14B| == | FIRAKEZ | 6 | 1.5 [9[9[8[1[o[9[9]9]1]0]10]10]10]2]5]10[10]9]2

15A| &&E3E |wvmswss| 7 | 1.5 [10[10[9](1]1]9[9[8]|0]|0[10[9]9]2(os[10[10]9|2[10[10] 9|2
15B| [t&ZE |[#Esxus 3 | 1.5 [10[10[9[ 1] 1]10[10[8]2]0s[9[9|7|0[0[10{9]|8|0[10[10]/9|0
16A| ®EE= EERE 2 0O [10[9]|8]2(0|9]/9(8|0[0(10/9(8|0|0f10/9]|7(0

16B| MEE |EuEsA=| 6 1.5 19(9|8|0(0|10]9(9]|2]0s[10/10[9|2]1[9|9]|9(2




2019ttt 8R/H KIBRRBZENRE-REE 2019/1/2115:52
" 2 RESYUFHE S WENRENES

29,28,28
| 1 [mssmmionn] wre |6 | 29,29,28
—) 13 |w~v ‘nmmﬁ‘#l T | 6
I's | et | wmwm [ o | 2830302928 T9 R B i % & sy 4nF
28,26,25 R I 1 7 B 8 85
29,27,30,27,26 (f) 13 2 [ElRVA=2 i PN HT4 7 8
s s | wemis | 6 18 e 3 B A A AR 6 35
o) 14| [wwwmwee] g | o 4 LT fER 5 4
L [weimmean| seam | s |18 21,26,27 5 METKSEE &R 4 6
29,27,27,29,26 13 . . 6 L =R R 3 4
28282826 R P 7 Pt Ll A 2 1.5
I'a | wmirm | wsm |6 30,30,29 8 CRZ PN s 1 25
= 15| | wmom | msm | e
I's [wmmxmss] war | 2
27,28,2824
~ gk | wEE | 6
26,25,28 ) 14
I 7 |@!x‘f‘§'§ﬁﬁ%| R | 0 I 29,3027,2829 TQ e
@ 16 |memeen] mEm | o
|2 |mumers| wiem |6 | 27,28,27
27,26,29

28,29,27,28

@ grEILE T | AR | 2

14 | | ke |

Gom | mspan | skt | 6

30,27,2829
QL | G | R | 5 |T9 27,20.29.28

*) 15 [mn=ras| mae | 2
O |mizme] maee [ e [ro

15 [sotiacean | sz |

Em o] was | 7 |
) 16 [ ssracmis | s | 6
(% |l_klﬁﬁ%f=?)\$| MR | 3 I 29292929
26,25,29,27,29
() g | waE | 6
16 | e | wem |

oom_ | mmsean | e | 4

27,29,28,25,24

AR : R e



2019/1/2103:41 PM

BR 2019 H ARG E SR B B 2010E H R KB EE Z 5T IEH
s-wml  1/2 REREKENRE F_HmEHh KL
BRI M= BT [mms|arri| 1] 2| 3)%|F 4|5| 6% (7| 7|8]9[#:|F|10|11]12|% | 13| 14| 15[ | 16| 17|85
13A| BTE |musugars| 6 | 2 [10[10/9[2[1]10/ 9[9[ 2]0s|10[10[8]2]0s
13B| R&a%= | 1E&E5 0 [0.5/10/9(9|0]05[{9|9|8[0|0|10/8]|7 0
14A | #5858 |wrmswas| 6 | 2.5(10(10/9[1[1]10]/9|8[1]{0]10[10[10{2]15/9[9{9|0|9[9|8]1]8 1
14B| 23 |wtm=ras| 5 | 1 [10[10/9[1[1]{9]9|9[1]{0]10[9[8]{0]|0[10[10{9]2]9[9[8]1]8
15A | XMk | PIRAE | 6 [ 1.5(10[10[ 820510/ 9[9[ 1os[10[ 9[9[ 1os[10[9]7 ]2
15B | it&E |sEsmxzas| 2 | 1 [10[9]8[0[0][10[10[ 8] 1]cs/10[9[9]1]0s[9[8]7]0
16A | MET |[EwEsA=| 0 (0.5(9(9]8[0][0[10]8[7|0[0[10[9]|9[0]os
16B | MER |=EsesA2| 6 | 1 [10[9]8[2[0]10/8|8[2|0]10[10[9]2]1

T




2019/1/2103:41 PM

0 BR 2019 H RS SR IZ B E2019F H R KB EE 55118 H

#—#| FINAL REREKENRE F_HmEHh KL

$EflI| = BT | mumn | aof [ 1] 2| 3[E|FI|4|5]6|%|F| 78] 9% |F|10]11]|12]% T L
13A | BETE |mu=smar=| 6 | 2.5 [10{10/9|2[ 1]10[10[9[2]1]10[9[9]2]0s

13B| & B |mumswse| O 0 |8|7[6|0|0[10[8][8]0[0[10]9]|8|0]0

14A| W | FIRARE | 6 | 4.5 [10[10[10] 2[15[10[10[10] 2] 15]10[10[10] 2[5

14B| MER [=Eusgsx<2] 0 | 0.5 [10/9(8[0][0[10[9[9]|0]os[10({9]|8]| 0|0

15A| k&%= | 1CERS 5 9(8|8(0|/0[9(9|8|1(0]|10[10/7]|0[0|10]9|9]|2 8182
15B | E2¥ |#tw=rs+| 6 1 [10/9]9(2]os|10{9|7[1]0{10/9]9]2(0s/10{9]| 8]0 9|7]0
16A| ZZE |sEsxus 7 9(8[7[{0]|0[10[10]9]2]1[10[10]9]2|1[10]9] 7|1 992
16B| MEE |EusL 2| 3 0.5 [10/9]9[2]os5|10[8]|7|0[0|10[9|8]|0[0]|9|9|8]|1 9|90




2019/1/2103:41 PM

0 BR 2019 H RS E iR B B 2010 H R KB EE T 5 F1IEH
=~ | ALL FINAL REKENRE £ _HhEHh RAX
M| HS I fams | arF | 1] 2|3 |% 7| 4| 5| 6% |F| 7|8 9% |F|10]11| 12|25 | 13[ 14| 15| | 16| 17 |
13A( BETE |mu=smexs| 5 | 3.5 [10[9]9]0]os|10[10{10] 1]15[10[10[10| 2[15[10[10] 9| 2[10] 9| 9|09
13B| == | FIRAKE | 6 | 2.5 [10[10[ 9] 2] 1[10[10[10] 1]+5[10[ 9] 8[0[010[10[ 8[0O[10[10[ 9] 2] 9 1
14A| &E3E |[wvmzswss| 2 | 1.5 [10/9[9[0]os|10[10{9]2]|1[10[ 98] 0[0[10{9]| 90
14B| MEE |[EvEsA=Z| 6 2 |10[10[10]2]15[10{ 9] 8| 0[0[10] 9] 9| 2(0s|10[10[ 9] 2
15A| ESBEK (mim=rs+s| 2 2 [10/9[8|0[0[10[10/9[1]|1[10]10{9|1[1][10]9|9]0
15B| [t&ZE |[#Esxus 6 3 [10[10[ 9] 2] 1]10[10[ 9] 1] 1[10[10]9] 1| 1[10[10] 9|2
16A| ®KE= | fEER2F | 6 1 [10]9[7]0]0]9]8]8]0]0][10[10]9]2]1]10]9]8]2]10[10]9]2
16B| MEE |EuEsA=| 4 | 1.5 |10[9]8]2]|0(10[10/9]| 2| 1]10/10/8[0]0s|9|8[8]|0|8|8(8|0




2019FtH RETFIIRIZBEE2019F R ABEE S
RERFENE RE RMSUFABO R

201911721 15:54

HHE

- R W|E B|F B 7 B |REUNAE | BRLNAS | ERANAR | RENARE| _ R A | A

i i mp | AR | me | 48 | —wEs | wan | —wEs | Cwan | D00 | BRI BRD 4 ue s
72 | mussnwA® | 80 | 45 | 70 | 80 150 | 1 125 2
ZL PRAR 60 | 50 | 80 | 85 140 | 2 135 1
HER @ulE~® | 70 | 35 | 60 | 35 130 | 3 70 | 4
#ER WHmELET | 40 | 30 | 50 | 40 90 | 4 70 | 4
ETh Him-RE® | 50 | 15 | 30 | 40 80 | 5 55 | 7
HEE PED R 30 | 25 | 40 | 60 70 | 6 85 | 3
EE mulEA® | 20 | 35 | 10 | 25 30 | 7 60 | 6
EEE EREP 10 | 05 | 20 | 15 30 | 7 20 | 8

=i LCBRAH




2019t ER/tH KB RBKENE-REE 2019/1/2114:19
v 12 RHSBEFH E—mEREMRES

29,29, 28
I 1 |@méigsmfm%| ERI9HT | 6 I 28,27,29,28
=) 9 |mvmsmncs | zmw | 2
| 8 |Euznre| sEs | o | 29,2926,28,29 R ER ® B ®H AN
25,27,26 s | men | 7 1 ERE AR e 8 65
28,28,27,27,29 (F) C) 2 HibrRR B HE 7 6
| s |mumere| asm | 6 3 EUEEM@BAR  BLH 6 65
O 10| |mumsiz| mem |6 4 WEET R 555
| 4 |Bumere| sux | 4 3028,29,28 5 B EAS BESF 4 4
29,27,27,27,27 9 muEscs | wEm 6 BB KRR EER 3 15
25,27,27,22 7 EihvE:y=PN- ] & 2 2
| 3 |ouesrz]| zes | 2 27,28,28 8 BT AS BER 1 2
e ul| | wEsT | 28 | o
l's | mesT | 231 | 6
2.26.20.28 FbmEeEe | BEH | 3
28, 28, 26, 27 %) 10
| 7 | =murn| mEe | 2 | 27,282928.27
@ 12 |wxeweme] pEs | 6
| 2 |muemmems| pms |6 | 283030
27, 29,27, 28
28,28,30,28,29
(B muEgmRAs | FRIGHT | 6
10 |§n%g“ami@x% §§Ei’z]fﬁ|
NB wEsT | 235 | 4
30,24,29,30,27
28,29,28
On | musirs]| sEe |6 | 29,29,26,28
) 11 |muskxe| sEe |6
or | mumaiz| mEx | o |
27,2627
11 |mussrz| sEs |
28,27,28,29,28
Gr | mumaiz| ez |6 |
) 12 |mumsis| mes |2
mr | sxwuize| BEE | 4 | 27,27,28.25
28,26,28,29,28
26,28,28,27,28
wr | mumare| sEx |7
12 |mumsxe| ssx |
3
N EE = E

27,27,27,27,26

B el - G



2019/1/2103:37 PM

BR 2019 H ARG E SR B B 2010E H R KB EE Z 5T IEH
z—m 1/2 REKENRE F—mith ~KE3B
BRI M= BT [mms|arri| 1] 2| 3)%|F 4|5| 6% (7| 7|8]9[#:|F|10|11]12|% | 13| 14| 15[ | 16| 17|85
9A | ZRI9HT |mu=ugars| 6 | 2.5[10{10/9|2[ 1]10[10[9[2]1]10[9[9]2]0s
9B | EZEF |HEu=dAxe| 0 | 0 [9]9]7[0[0][10/9[8[0][0][10[10[6]0]0
10A | BiFpL |ExsesA2| 6 | 1 [10/9]9|0[os/10/9[9[2]0s/9[9[9]1]0[10[9]8]1[10[10]9]2
10B| &N |ExsesAe| 4 | 1 [10/10/9[2[1]9]9[9][0]|0][10[10{7[1]0[10{9]|8]1[9({9]|9]|0
1MA| #ER |Eugscs| 2 0 [9(8|8[0(0|10[{9|8]|2[0|10/9(8|0|0(8|8|6|0
11B| Fdkk | HESL | 6 | 2 [10/10/9[2[1]9]9|8[0]|0][10[10[9]2]1[10[9]9]2
12A| ZEIEE |=dmaas| 2 1 110[9]|9] 205|110 9[9|0f0s[10/9[7]0|0[9]9|9|0
12B| Z8% |witwmezmEs| 6 | 1 [10]9]8[0[0][10[10[9[2]1]10[9[8]2]0[10[9]9]2

T




2019/1/2103:37 PM

0 BR 2019F tH A ST ATiRIZE B 2019F tH R AR B e Z 55718 H
#—#| FINAL REKENRE F—mfth ~KESB
BRI M= B e | arf | 1] 2] 3[#|FI| 4] 5] 6|#|F|7|8|9|%: 7|10 11] 12]# | 13] 14| 15 % | 16 | 17 |%E
9A | ZRI9HT |mu=ugars| 2 | 1.5 [10[10[ 8] 0]os|10[10]/ 7| O[O [10[10/ 9| 1] 1]10]/ 9| 9] 1
9B | Bl |EngeAs| 6 3 |10[10[10] 2]15[10[ 9] 9] 205[10[10] 9| 1] 1]10]/ 9| 9] 1
10A| =k | EsL | 0 1 [10[9]8]0[0[10]9]9|0[os{10/9[9[0]0s
10B | 588 [simmems| 6 | 3.5 (1099 2]0s|10[10[10] 2]15[10[10[10] 2|15
11A| BBEEF |@Eu=dtkE| 6 2 |10[9[9]2]os[10[10]9]2[1]10]9]|9]|2]0s
11B| &5 EixriEEAEl 0 0 |10/9(8|0(0|9]|9(8|0|0(f10]/9|8(0]|0
12A | #RFES |@EugeL s 6 1 [10[10]8]1[o5[9]9]9[2[0[10] 9[9[ 1]0s|10[10] 9| 1]10]10] 8] 1
12B| #1EE [=dmhuks| 4 1 [10[9]9]1|os5[9]9]|8[0[0][10]10[ 8] 1]0s|10[10] 9| 1]10]10] 8] 1




2019/1/2103:37 PM

0 BR 2019 H RS E iR B B 2010 H R KB EE T 5 F1IEH
#—#| ALL FINAL REKENRE F—Hmiih RAS

M| HS I fEe | grr | 1] 2] 3|27 45| 6% |FI| 7] 8|95 |F|10]11|12|%5 [13] 14| 15(225 L
9A | E8FAt |Exsgsxz| 7 [ 2.5 [10{10]/ 92| 1]10]10[9[2]1]10[9[9]0]0s|10[10{ 8] 1[10[10{9]2
9B | S5&EH |sammems| 3 | 1.5 [10/9(8[0]{0[10[9[9]0]os|10[10]{9]2|1[10]{9]9[1[9]9]|9]|0
10A| ZE19¥7 |mu=smexs| 6 | 2.5 [10/9[9[0]os|10[ 9[9]2]0s|10[10[10] 2[15[10]{ 9] 9| 0O[10[10] 9|2
10B| Rk | BESL | 4 | 2.5 [10[10{10]/2]15/9]{8]|7|0[0[10[10/ 9|0 1]10[10[10[2]9]|9|9[0
11A| 55X |EuggsxE| 7 1 [9]{9]/8/0[0{10]9]|9|2]0s|10[10]8]2]0s|10[9]8]1]|10[9]9]2
11B| #ZEIEE |=dtmrks| 3 0O [10[9]|8]2(0]10[9|8|0({0|9]|9(9]|0[0|10]9(8|1]9 8|0
12A| BBiEF |(Eu=4HKE| 6 2 |10[10]9]2]1[10[10]/9]|2[1][9]|9]|8|0[0]10]9|9]2

12B| #ER |(Eugscg| 2 05 (9/19/9(0|0[10/9]|8[0|0|10[9]|9|2]05/9(8|8]|0




2019t ER/tH KB RBKENE-REE 2019/1/2208:23
v 2 RMSBFHE FmENERES

29,26,25,29,27
| 1 |ouessz]| sem | s |19 28,25,28.25
=) 9 |zwwuxm| mEe |1
I 8 |§jt?ﬁﬁjq§| EIFE | 6 |T9 SR 27,28302827 T9 BR B oI "B =P A
27,27,27,26,27 BEsT s | s 1 ElfEBERER Eﬁi%;“( 8 4.5
28,27,27,29,29 () 9 2 BEST ESTy 7 6.5
|5 |mustrn| sEs | 4 3 kv =P BRE 6 35
o 0] | mEsT | 2mm |7 4 S ey B 515
| 4] mesT | 58% | 6 29.27,28.29 5 F IR EE BEy 4 7
28,30,29,27,29 9 [ 6 BB KRR BFEL 3 3
27,29,28,28,28 7 VY- LIl 9K 2 4.5
| 3 [susmswncs] summ | 5 |70 8 B ELAR BEP 1 35
e 1| |mussxs| mes |3
|6 |mugsrz]| #ez |6 19 men
e ENEEAR | BEX | 6
29,29,29,29,29 %) 10
I 7 |@1ﬁﬂ%§7§§| B | 7 I 27,29,26,2827 TX
@ 12 |mumeam| mmx |7

[ 2 Tesxwmens] mas |3 |

30,29,28,28,28

27,28,27,25
@r | skwurz| B®BEe | 2

10 |mumsis| mes |
oor | mumarz| Be= |6
29,26,28,27
On | mumsrs]| wem |6 | 2827,2828
) 11 |mumsksm| wmem | 2
Or | muskiz| sEre |4 |
11 [ svmmmams | gy |
29,25,28,29
(D) |L§msi§smi@x%| FI9HT | 1 I
0y 12 |mxewmmme] B | 6
mr_ | Fsesar] sEe | 7 | 27,28.29.29
30,28,28,30
30,28,25,27,27
wr | musirz| mEr |3
12 |§n%g“ami@x% mi@IﬁI
[ANL:4 EuEgmecs | RI9HT | 7

28,28,28,28,30

AR SRR “CEReE



2019/1/2103:38 PM

BR 2019 H ARG E SR B B 2010E H R KB EE Z 5T IEH
s-wml  1/2 REREKENRE F_ i HE
BRI M= BT [mms|arri| 1] 2| 3)%|F 4|5| 6% (7| 7|8]9[#:|F|10|11]12|% | 13| 14| 15[ | 16| 17|85
9A | Bi=FAL |EsesAs| 5 1 |10[10/9]2(1]19]9(8|0[0(9|9[7|0|0(10/10]/9[2]|9]|9(9|1|9
9B | Z#&IEE |=dmzkz| 6 | 0 [10/9]8|0[0[10/9|8[2][0]10[9[8]2|0[10[9({7]|0[10[9]{8]1]9 1
10A| EEZEF |FEx=dAz| 4 [ 0.5(10[9]9(1[os{10/9[8[0[0[10[9[8]0]0[10[10{9]2[10[10{9]1
10B| Rk | HESL | 6 | 3 [10]9]9]1os]10]10[10]2]15]10[10[9]2]1|10[ 9] 8] 0[10[10{9]1
1A | ZRI9HT |mu=ugars| 5 [ 1.5[10[9]8[1[0]{10/10[9[2]1]10[10[ 8|0 ]os|10[10{8]0[10[9]9]2]9
11B| #ER |Eugsx2| 6 [1.5(9(9[9[1[0[10]9|9[0]os|10[10[9]2]1[10[10{9]2]10[9]8]|0]9 1
12A | B&X |=Exsesxe| 7 | 3 [10[10/9[0[ 1]10[10[ 9] 1] 1]10[10[ 9] 2] 1 [10[10]9]2[10[10] 9] 2
12B| S88 |witwmemEs| 3 | 3 [10/10/10] 2 |1.5/10]10[ 9] 1] 1]|10[ 9| 9| 0]os|10]9]| 9| 0|10]9]| 9|0

T




2019/1/2103:38 PM

0 BR 2019F tH A ST ATiRIZE B 2019F tH R AR B e Z 55718 H

#—#| FINAL REREKENRE F_ i HE

$EflI| = B | mumn | arf [ 1] 2| 3[E|FI|4|5]6|%|F| 78] 9% |F|10]11|12]%: |13 5 L
9A | ZEIER =ik 1 1 [10[9]9]0(os[10]/8]7[0[0][10/9[9[1]0s|9[9[7]0

9B | etk | HMESL | 7 | 1.5 [10[10/9]2[1[10]/9]8|2[0]10[10[ 8] 1]{0s|10[10[9]2

10A| ZEES |Euisxz| 3 0.5 [10/9]9(2]05/9[9|8|0[0|10[{9|8]1[0|9]|9(8|0|9 9|0
10B| 55X |[Ewusesx2| 7 | 0.5 [10/9[7[0]0]10[10[8]2]os[10{9]|8]|1[0[10]/9]|9|2]10]10] 9|2
11A| B |Evsgexs| 6 1 [10[9]9]0/(os[10]{9]9|2[0s]9]9|8[0[0][10[9[9]2]10[10[9]2
11B| BEiEF |(Eu=dtks| 4 1 [10[10]/9]2[1][9]|9]|8|0[0][10/9|8[2]|0[10[9[8]0|8[8[8]0
12A | 201937 |mu=emers| 1 1.5 [10{10]/9[0[1]{9]|8]|8[0[0]10/ 9|9 1]0s|10[10[9]0

12B | 5889 |sammems| 7 | 2.5 |10/10[10]2]15|10[ 9] 9| 2]0s[10] 9| 9| 1 |05|10]10| 10| 2




2019/1/2103:38 PM

0 BR 2019 H RS E iR B B 2010 H R KB EE T 5 F1IEH

=~ | ALL FINAL REKENRE £ _Hfh RAS

M| HS I fams | arF | 1] 2|3 |% 7| 4| 5| 6% |F| 7|8 9% |F|10]11| 12|25 | 13[ 14| 15| | 16| 17 |
9A | Fmwk | BEsIL| 5 2 |10[9]8]1]|0[10]10| 8] 0fos|10[10[10[ 2{15]10] 9[9[ 1]9[9[9]1]9

9B | =5X |EugEELE| 6 1 [10[9]8]|1|0[10[10]9[2[1]10/8]8[0]|0]|10[9]9]1]10[9]8]1]10 1
10A| ZEIEE [=dmzk2| 2 | 0.5 [10/9(8[0]|0[10[9[9]2]os[10{9|8]0[0[10{8]7|0

10B| ZEE |[mEwmsx=| 6 | 1.5 [10[10[9][2[1]9]9]8[0[0[10[9]9]2]0s[10[9]8]2

11A| EiFEm  |Eupsis| 2 1 [10[9]9(2]0s[10{9[8]0[0[10[9]9|0]0s[10{9[9]0

11B| 58%# |witsmems| 6 | 1.5 [10[9](8][0]|0[10[9]9]2(os|10[10[ 9|2 1]10]10[ 9] 2

12A| BEiEF |(Eu=ikE| 3 2 |10[10]10] 2]15[10[10] 8] 1|os[10]| 8| 7[0[0]10/9|8[0]|9]|9|9]0

12B| ZR39H7 |mw=semarm| 7 | 1.5 |10[9]9]|0|os{10] 9] 9| 1 [os|10]9]| 9| 2|0s|10]| 9| 9] 2]10]10[10] 2




2019/1/22 08:27

2019t R AR IZE B B 2019 tH R KB EFH D
RREENE FE NHsEFHED R

- B WP W B W | Bk [RRLTER| BRULE |ERUNEE| BEULE | . — @A | aF | A
E =i wo | R | me | 4R | —wEs | B—waR | —wEs | goaaw | P00 | R IBED | bl | as
Py BEST 50 | 55 | 70 | 65 120 | 1 120 2
e EuEEAZ | 80 | 65 | 30 | 30 110 | 2 95 | 4
=P FbmEEET | 70 | 60 | 40 | 7.0 110 | 2 130 1
Y BUEEAE | 20 | 20 | 80 | 45 100 | 4 65 | 6
BES EuEEAZ | 30 | 15 | 60 | 35 90 | 5 50 | 7
mon | BuEEmEAR | 60 | 65 | 20 | 45 80 | 6 110 3
I =hHuA2 | 10 | 20 | 50 | 15 60 | 7 35 | 8
HET BuELA® | 40 | 40 | 10 | 35 50 | 8 75 | 5

A - AR ¢ Al -



HHE

1/4

|1 [momees | wwwsm [140 Jmio

2019t R/t KIBRRKENRE - RE
2 EESRFHE S —WHNEME

=) 5

| e i | prias 145

| 8 | winme | seus [140 |To

RIS | BRiaTE | 148
@ 5
| 5 [mumern]| woe [146
) 6 | |mumekan| woim [142
| 4 [owminmsr | e |144
° B A | e
[ 3 | seiexs | wmm [146
S 7| | xexs | wmEw 146
l's | sexs | wxsm |142
o HINSERE | SRR 147
@3) 6
| 7 [wscmenn| mep |142]
@ 8 Jwewmean| swex 147
[ 2 [memenn| sz [143]
@Em | s s 145
6 | mumaas| e
D sk | mEm 144
| o | e 146 |
) 7| wnew | e (141
(D)8 |wzwﬁwwm' ke |142|
7 | ot | e
SN ES
Oy 8 e | e 140
mg | s | e [145 |
e T
8 | xxp | wsm
Vs ks | wps (148
jiiresdil

®
X

w N O a b~ W N =

B I

B ST A

B ST A

B ST A
SAEREE
WrwE

B ST A
AEREE

B T 7K

JE
Btk
B
TR a0
R
e
S GE
FF ik

bl

i

= N W A OO N

h

£LF

2019/1/2114:21

el



2019/1/2103:44 PM

BR 2019 H R FI IR IR B B2019FEH R KREESF 25518 H |
g—w|  1/2 REKENE F—HmEh €5 i
M| W& Bl [1|2(3|4(5|6|7|8|9/[10|11[12[13|14|15ms|ns| #85 | ALF
5A | TR1G1E [Exreea~&[10[10[10[ 9[9[ 8]9]9[910[10[9]10[ 9] 910 140 0
5B [=2miE| M= [10[10] 9[10[10]9[10/9]9[9]9[9[9]9[9]9 140 0
6A | #MBFEF |ExrezaA=[10[10[9]10[10[ 910[10[10[10[10[ 9]10[10[ O 146 2
6B | FFEAE |mamuaese|10[10[ 9]10[ 9] 9]10[10] 9|10/ 9] 9[10]10]10 144 1
7A | BRED | STIEXRE [10[10[ 910 9] 9]10[10[10[10[10[10[10[10[ O 146 2
7B | 2= | X{EXE [10/10]10[10[10] 910[ 9] 8 [10[10[10[10[ 9| 7 142 0
8A | BE®E [EaeaAZ[10[10[10[ 9[9[ 9[10[10[9]9]9]910[10][9 142 0
8B | =&% |EezaA2(10[10[10[9[9[9]10[9]910[9]9][10[10[10 143 0.5




2019/1/2103:44 PM

0 BR 201 94F tH L A s B B 20 1 947 tH FLR B2 A gy B i TH |
%—#| FINAL REEENE £l #5 :
M| W& BfI |1|2(3|4(5|6|7|8|9([10/11|12[13|14|15|ms|ns| #BS AR
5A | PR1AIE [EvrezaA=[10[9(9]10[10[10[10[10[ 9]10[10[ 9]10[10[ O 145 1.5
5B | #AAFF [ExreeaA2[10[10] 9[10[10[10[10]9[9]9[9]9]10[9]9 142 0
6A | TR an | SX{ERE [10[10[10[10[10[10[10[10] 9[10[10] 9|10 9] 9 146 2
6B | =&F [EvezaAz[10[10] 9[10[10[10[10[10[10[10[10] 910[10[ O 147 2.5
7A [SZE] MO [10[10[10[10[ 9] 9[10[10[10[10] 9] 9]10[10]10 146 2
7B | EFERAE |smEmuaesa|10] 9| 9[10[10] 9]10[10] 9[10[10] 8|10/ 9] 9 142 0
8A | ==& | XIERE [9]9]9]10[10[9[10[10[9]10[ 9] 9]10[10[ 9 142 0
8B | =1 |ErsesA2]10] 9| 9[10[10] 9]10[10[10[10[ 9] 9[10[10]10 145 1.5




2019/1/2103:44 PM

0 1BR 20194F tH L Fi s B B 20 1 94F tH FLR B2 2 By B i TH

%—@|ALL FINAL REEERE il #5X%

$E1I s BfI |1|2(3|4(5|6|7|8]|9/[10/11|12[13|14|15|ms1| mss2| ZBH AR
5A BRTAIE [EvrezaA2[10[10[10[10[10] 9 [10[10] 9[10[10[10[10[10[10 148 3
5B =kx |ErrEEsA2[10{10] 9 [10[10] 9]10[10[10[10[10[10]10[10] 9 147 2.5
6A | HBEEF |ErzaEAE([10[10[10[10[10] 9[10[10[10[10[10[ 9]10[ O] 8 145 1.5
6B | FEE=al | SXIEKRZ [10[10] 9[10[10[ 9|10/ 9] 9]10[ 9] 9[10[10[10 144 1
7A | 520 | HO=9 [10[9]9]10[9[9[10[9]9]10[10[10[10[9]8 141 0
7B | G |Ewesc10[9(8]10[10] 9]10[10/ 9[9[ 9] 8[10]10] 9 140 0
8A | FFEE [masuszss|10[10[10[10[10[ 9[10[10[ 9]10[10[ 9]10[10[ O 146 2
8B | ==& | XIEKXRZE [10[10] 9[10][10[10[10[10] 9]10[10[10[10[10[10 148 3




2019t ER/tH KB RBKENE-REE 2019/1/2115:42
4 2 EESTFHEHFE_RENENRS

Lt [ memens | prws 140 )

+

=) 5 | mumsson]| s 149
| 8 [smmonmsn| wrune 145 | BR B w o My A
i | peies |18 1 A WfaE 8 10
(f) 5 2 & SeP N BT 7 5
|5 | o | seme 143 3 ERZ AP IR 6 25
O 6 | | soexm | w143 4 Sl Bisgdn 5 4
I 4 | scterm | pmm [148 5 SN Bt 4 7
5 Y - 6 BT i N2 A e iz 3 1.5
7 ORI PN ttE 2 0
| s [wmwmenn]| smg [142 8 Wi mewE 1 05
S 7| || e 144 [ 1o
| 6 [mussnmn| e [135
R R | Mg [144
) 6

I 7 | sterm | s |45
@ 8 |mumekn| gk 144 |To
|2 |mumeres| sonz [148 ]

(B scfpri | pRagm [143

6 EErETT

oom_| o | o5 [145

() |wsmmwm| FFEE |142|Tx
) 7 [ s icnmaer | zrpne [142
O | wnsm | e 142 1o

EETEEE

+

Em | mepioan | e 140 |
S IE T
mm | ofeks | s 148 |

() wnis | wener [142 |To

8 | mmeras | e |

oom_ | mvseas | et 142 |To

AR : AR - e -



2019/1/2103:45 PM

BR 2019 H R FI IR IR B B2019FEH R KREESF 25518 H |
z-w| 12 KERFENRE W €5 i
M| W& Bl [1|2(3|4(5|6|7|8|9/[10|11[12[13|14|15ms|ns| #85 | ALF
5A | FRTEIE [mxrezaAz[10[10[10[10[10[10[10[10] 9[10[10[10[10[10[10 149 | 35
5B | FFimezE |smeEsuxuss|10[10[10{10[9]9[10] 9] 9 [10]10[ 9[10]10[10 145 1.5
6A =] M= [10[10[ 9[10[10] 9[10[ 9] 9]10[ 9] 910[10] 9 143 0.5
6B | FREd | SZIEKRE [10[10[10[10[10[10[10[10[10[10] 9] 9 [10[10[10 148 3
7A | #BEEF [Exezax&[10[10] 9[10[10[10[10[10[ 9 |10] 8] 8 10[10] 8 142 0
7B | taf=ErE |EvuiesA2[9(9(8(9(9]9]9[9(8(9(9]9]10]10[9 135 0
8A | Z=%& | XIEKRE [10[10[ 9]10[10[10[10[10[ 9[9[ 9] 9[10[10[10 145 1.5
8B | =i&FE |=E 1B AZ|10/10| 9|10[10[10|10|10]| 9|10[10[10|10]10]10 148 3




2019/1/2103:45 PM

0 BR 2019 tH R EI IR IE B B 2019F H R KB EH ZHFIEH |
z—#| FINAL REFENE F_ W €5 i
M| W& BfI |1|2(3|4(5|6|7|8|9([10/11|12[13|14|15|ms|ns| #BS AR
5A | PRTAIE |[Exreea A& (10[10[10[10[10[10[10[10[ 9]10[10[10[10[10[10 149 3.5
5B | FRzal | SXIERE [10[ 9] 9](10[10[ 9 [10[10[10[10[ 9] 9]10[ 9] 9 143 0.5
6A | "AF5F |ExrezaE A2 (10[10[9]10[10] 9]10[10[ 8]10[ 9] 9[10[10[10 144 1

6B | =&F [EveeaAz|10[10[9][10[9]910[10[9]10[ 9] 910[10[10 144 1

7A | FFEE [sasusess|10[10]9]10[10[ 9[10[10[9]10[ 9| 9]10[ 9] 8 142 0
7B |5 & E| O S9 [10]10[{10/ 9[9[ 9]10[9]8[10[9]9[10[10]10 142 0
8A | H{ERE [ExiEBEAZ(10[(10| 910[10]9|10[{9|8|10[9|8|10[9|9 140 0
8B | 2=%E | XIEKREE |10]10[10|10[10| 9|10[10| 9|10[10]|10[10|10]10 148 3




2019/1/2103:45 PM

0 BR 2019 tH R EI R IE B B 20190F H R KB EHZHFIEH

=~ | ALL FINAL REKENE F_WEh €5

$E1I s BfI |1|2(3|4(5|6|7|8]|9/[10/11|12[13|14|15|ms1| mss2| ZBH AR
5A BRTAIE  [EvrezaA2[10[10] 9]10[10] 9 [10[10[10[10[10[10[10[10[10 148 3
5B =k |EEEsA2[10[9]910[10[10[9]9]9[10[10[10]10[10] 9 144 1
6A | FREI | XIEKRE [10[9]8]10[10[10[10[ 99 ]10[ 9] 9]10[10[10 143 0.5
6B | #HEHEE |ExzseaA=[10[10[10[10[10[10[10[10] 9[10[10[10][10] 8] 8 145 1.5
7A | FEE [sasusess|9[9[9]10[10[9[10[ 9] 8110[10[10[10[10[ 9 142 0
7B | ==& | XIEXZ [10[10] 9[10[10[10[10[10] 9]10[10] 9[10[10[10 147 25
8A | 5 [ MO=9 [10[9]9]10[9[8]10[10[10[10[10[10[10] 9] 8] 9 142 0
8B PHEfE  |BxriEEAE10[ 9] 9]10[10] 9[10]10[{9]| 9|9 9]|10[10] 9|10 142 0




2019/1721 15:49

2019 tH ARG AR R B B2019F R KEEHZ
REBERNE AR B FEBES X

m, 50| 25|25 5|2 0 | BREUNES REUNES | REUNES | REUNES]| |, ___ _ |aAum] 4 | A
E B 5 | AR | WmH | 4F | —wEH | —%aF —wms | —wmar | R | BRBES 4 e |
BEiaTE HEE AR 80 | 45 | 80 | 100 16.0 1 145 | 1
Zex BT REE A 70 | 55 | 70 | 50 140 | 2 105 | 2
HAREF Hi e A 60 | 35 | 60 | 25 12.0 3 60 | 5
IR AR 50 | 50 | 50 | 40 100 | 4 920 | 4
S=E X{EAE 20 | 30 | 40 [ 70 6.0 5 10.0 | 3
S MO 40 | 20 | 1.0 | 05 5.0 6 25 | 7
B BB AS 30 | 15 [ 20 | 00 5.0 6 15 | 8
i HERIIXES 10 | 30 | 30 | 15 4.0 8 45 | 6

HHR AR “pral -



AR

2019ttt 8R/H KIBRRBZENRE-REE
BESEFE FHHNENE

>

ENEEE AL | RAM

T8

| mugsim| wae |

| wExm | wem |

1/4 1/2
| 1 | ouesre| mre 146 |
O 1 |mmessn| mre [145
|8 | wExz | sEm |144]
mumEAD | BRE |146
@ 1
I's | mcxs | m== 150
O 2| | wmxm | m=s |43
4] mm | smwe |i4s
1
|3 | xtexz | #&sF |147
e 3| | xexm | EeT 145
I 6 |§;§ir,am¢/u| HERH |142
XbAR | EFF [146
>N 2
I 7 | eExz | 2 |143]
@ 4 |mumssm| wEm 143
| 2 |Bumere| wEmw 145 ]
feat:s wioxs | m=s [145
2
om__ | mumeis | HER 146
om | wExm | mEe [143]79
€ 3 FiE i | 147
or | omm | mEwe [143]1x
3
L |@§@mm¢m\| HEH |143|
oy 4 | mssmmasn | smm 145
mr | wExm | s 136 ]
oL PEAS | wmEmE [146
4
VR wEAR | g 143

TR

B oI
Ehve J=PN-
XIERE
Ehve J=PN-
WORE

Al

X

EFEH DD
PEAS
PEAS

® N o s wNn e R

" B
FBR5R A
EFE
MR
BR=8
BEMAF
HEDR
HER
Ellod

2019/1/2114:21

A
55

45

35

“CEReE



2019/1/2103:43 PM

5R 20194 -t L S i S A 20 1 94 tH LR B2 B ey B i T H

g—w|  1/2 REFENE F—wmih #5

M| W& Bl |1|2(3|4(5|6|7|8]|9/[10]11]12[13|14|15]um:|ns| Z25
1A | BRR 4w |=Exrses A2 10[ 9|9 [10]10[10[10/10[10]10[10]10]10[ 9|9 146
1B | MEE | PIEKREE |10] 9| 8]10[10[10]/10[ 9| 9|10[10|10[10|10| 9 144
2A | BRE=E | E{”KE |10[10{10[10[10[10[10]10[10[10]10[10]10[10[10 150
2B | EMsE Biie  [10]10] 9[10/10[ 9|10 9| 8|10[10[10]10[10]10 145
3A | BFRYE | XIEAXE [10/9[9]10[10[10[10[10]10[10[10] 9 [10]10[10 147
3B | HEEE |mzEsmiass|10[10[ 91019 9]10[ 9|9 [10/9]|9|10[10[ 9 142
4A | 24 | PIEKREE 10|10 9]10[10[10{10[ 9] 9|10/ 9| 9|10/ 9] 9 143
4B | M |EreeaA2(10[10]9[10] 9 9]10]10[10]10[10] 9 |10[10]| 9 145




2019/1/2103:43 PM

0 BN 201 94F tH AL A s A B B 20 1 94t FUR E2 2 ey B i TE H |
g—t| FINAL REFENE B @5 i
M| W& BfI |1|2(3|4(5|6|7|8|9([10/11|12[13|14|15|ms|ns| #BS AR

1A | PR 4 (ExrsesA&[10/10[ 9]10[10[ 9|10[ 9| 9 10[10/10[10]10| 9 145 1.5
1B | B=E | 81 KE [10/9|9]10[10/10[10[ 9| 9[10]|10[ 9|10[10| 8 143 0.5
2A | EFY¥ | SXIEKE |10[10[ 9[10{10|10[10[10[ 9]10| 9| 9 [10[10] 9 145 1.5
2B | MEE |EreesA210[10/10[10] 9| 9[10]10[ 9|10/ 9| 9|10[9] 9 143 0.5
3A | MERE | FIEKRE |10[10]10[10[10] 9 [10] 9| 9[10|10[10] 9| 9|8 143 0.5
3B | EME Biie  [10]10] 9[10]10[10/10| 9|9 |10[10[10]9[9| 8 143 0.5
4A | HEFHE |mzsswimen|10[9]910[10/9[10] 9| 9[10] 9| 9]10[10|10 143 0.5
4B 24z PIEARE 19]9]9(10[9(9]|9]|8|8|10[9[9]10/9]9 136 0




2019/1/2103:43 PM

0 BN 201 94F tH AL A s A B B 20 1 94t FUR B2 2 B ey B i T H

g%—#| ALL FINAL REFERE B @5

$E1I s BfI |1|2(3|4(5|6|7|8]|9/[10/11|12[13|14|15|ms1| mss2| ZBH AR
1A | [RFA4m | =ExzesA2|10[10| 9[10]10] 9 [10/10[10]10[10[ 9|10[10] 9| 10 146 2

1B | EF¥ | XIEKRE [10/10] 9[10/10] 910]10[ 9 |10|10[10|10[10| 9| 8 146 2

2A | FE=E | 1" KE [10[10]10/10[ 9| 9[10[ 9] 9|10[10[10[10|10] 9 145 1.5
2B | MEIE |EsesA=|10[10] 9|10[10]|10[10[10] 9 [10]10[ 9|10|10[ 9 146 2

3A | EEMRE Ai%E  |10[10] 9|10[10[10[10]10|10|10[ 9| 9]|10|10[10 147 2.5
3B | HEFEH |mzamamen|10[10[9]10[ 9] 9|10[10| 9|10[10]10[10|10] 9 145 1.5
4A | MERE | B1EKRE [10[10] 9]10[10[10[10]10] 9|10[ 9| 9]|10]10[10 146 2

4B 2%z P 1ERER [10]9]9(10/10[ 9|10[10[ 9|10[10] 8 |10[10]| 9 143 0.5




2019t §R/tH KIBRRKENRE - RE 2019/1/2115:41
v 12 HESBEFHEF_WHREREA

|1 [mmesas| wms |147]

) 1 |mumsxs| mRe 149
I | eExm | 2 Ji40] ZR B ofr AR 7 k]
EvEEAL | MAM (148 ! AUREAR P 8 o
@ 1 2 AR EET 7 3
I's | &m | mwe |144 3 BOAS BEE 6 4
o 2| | mexm | m=s |39 4 BEREBIREL ORER 5 1
|4 | moxs | m=s 148 5 G B 4 45
1 S | mR 6 EirE AR 5 3 3
7 HEAS i 2 3
| 3 |mumsxs| wem 141 8 P iEAH 215 1 1
=) 3 [azsnus=s] #emn [139
| 6 |msmomann| ssmz |144
TiAB | BRT (142
) 2

144 |78
@ 4 | xexz: | EETE 146
| 2 | xtexm | msF [144 |0

() wEAR | mes 144

2 | wmxz | gEs

)4 BREDRP DL | HEEE | 132

x| eExm | oz [140]
© 3 | =@ B | 145
ox | mm | s [146 |
3 | @ sEHh#E
Gr | Euesss| woEm 148 )
) 4 |mmmexs| weEm (142
x| eExm | wEe (143 ]
(O PEAS | g [144
4 | wEx® | wEe
UV pEAS | HEm [145

BHIE e - R -



2019/1/2103:44 PM

BN 2019t R ET SR IZ BB 20190 tH A KB ES 255 IE H |
g-wm|  1/2 KEFENE F_m¥n €558 i
M| W& Bl [1|2(3|4(5|6|7|8|9/[10|11[12[13|14|15ms|ns| #85 | ALF
1A | TR 4w |EvrezaA2[10[10] 9[10[10[10[10[10[10[10[10[10[10[ 9] 9 147 | 2.5
1B | Z%& | PIEAZE [10[9]9]9]9[9(10/9]9]10[10[9]10[9]9 140 0
2A | EMFF vz |10[ 9] 9[10][10[10[10[ 9] 8]10[10[10[10]10] O 144 1
2B | BR=5 | #1_AZ [10[10[10][10[10[10[10[10[10[10[10] 910[10[ O 148 3
3A | MEBE [Exeeax&[10[10]9[10[ 9] 8[10[ 9] 9|10/ 9] 9]10[10] 9 141 0
3B | AR |mzamzaen|10[ 9] 9[10[10] 9 [10]10] 9 [10[10[10[10] 9|9 144 1
4A | REE | PIEAE [10[10] 9]10[10[ 9 ]10[10] 9|10 9] 9 [10[10] O 144 1
4B | FBEFF | XIEKEE |10]10[ 9]10[10[10]10[ 9| 9|10[10/10[9]| 9|9 144 1




2019/1/2103:44 PM

0 BR 2019 tH R EI IR IE B B 2019F H R KB EH ZHFIEH |
z—#| FINAL RERFENRE F_WmEn €538 i
M| W& BfI |1|2(3|4(5|6|7|8|9([10/11|12[13|14|15|ms|ns| #BS AR
1A | T&5R4m |=ErrseaA2[10]10[10[10[10[10]10[10[10[10[10] 9 ]10[10[10 149 3.5
1B | B== | @A [10/9]8[10[9]9][10[9]9[10[9]9]10[9]9 139 0
2A | ESBHE |mzsmuimen]10[9]9]10[9]8[9]9][9[10]9|9]10[10][9 139 0
2B | FFF | XIEKXRZ [10[10] 8[10[10[10[10[10[10[10[ 9] 9[10[10[10 146 2

3A | ZZE | PIEARE [10[10[ 910/ 9] 9[10[10[ 910[ 9| 8[10[ 9] 8 140 0
3B | EMEF mine  |10[10[10[10[10] 9[10] 9] 9[10[10[10[10[10] 9 146 2

4A | MEIE |ErezaA=[10[10[10][10[10[10[10[10[10[10[10[ 9|10[10[ O 148 3

4B | MEE | PIEKREE |10]10[9]10[10| 9|10[10|10{10[9]|9[9]| 9|9 143 0.5




2019/1/2103:44 PM

0 BZR 2019 tH R EI R IE B B 20190F H R KB EHZHFIEH

=~ | ALL FINAL REREENRE F_ W €538

$E1I s BfI |1|2(3|4(5|6|7|8]|9/[10/11|12[13|14|15|ms1| mss2| ZBH AR
1A BR5R4m |EvreEaA2]10[10[ 9]10[10]10[10[10[10[10[10[10[10[10] O 148 3
1B | ZEF¥ | 3XIEXRE [10/9]9]10[10] 9]10[10[10[10[ 9] 9] 9] 99 142 0
2A | BR=E | 81" AZ [10[10[10[10[ 9] 910 9] 910[10[ 9]10[10[ O 144 1
2B HEH  |mxEsmaimen]10{10[10] 9[ 9] 8]10[10] 9[10[10]/9[9]| 9]0 132 0
3A | EME girze  |10[10[ 9[10[10[10[10] 9] 910[10] 9]10[10] 9 145 1.5
3B | MEiE |EveEaAZ[10[9]9][10[9]910[10[10[10[ 9] 8]10[10[ 9 142 0
4A 25 A IERER [10[9]9(10[10] 9[10[10[ 9 [10[10] 9[10[10] 9 144 1
4B | MERE | PIEKRE 110[9(9]9[9]|9]10[10/10[10[10]10[10|10]10 145 15




20195t RS FIIRIZEB2019F R ARBEE S
RNERBEENE RE G5B FlREsR

2019/1/21 15:50

os B |B WA B0 | B0 |BERENES | BRENE |BRYUNES | BRENE A oax o | ALA | AR | AR
s #i %) ) B | AN —WED | FWAN | “WmEn | WA wED | | BES ME | PR | D
R 5 4 EhvE =P 8.0 5.5 8.0 9.0 16.0 1 145] 1
B MAERER 7.0 6.0 7.0 3.0 14.0 2 9.0 3
= L N 5.0 6.0 6.0 4.0 11.0 3 100 | 2
R v =P 6.0 4.0 3.0 3.0 9.0 4 7.0 5
M AifE 4.0 4.5 4.0 4.5 8.0 5 9.0 3
HEHE BxESH&EPL | 3.0 2.0 5.0 1.0 8.0 5 30 | 7
HERE PIERE 2.0 3.5 2.0 3.0 4.0 7 6.5 6
2z hEARE 1.0 1.0 1.0 1.0 2.0 8 2.0 8

AR

Rl

G



